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Wiferes e (PHYSICS)

oo T % 4 Fma A §, e v famea  (Each question has 4 options, select the
appropriate option)

N
T |
3

o1

. 2.

¥ 3.

T AT FEue & U fig WU
et HATTE: T I3 W T T we
-

9.8 I

15[

9.8 30

(D) (A)F(C)EH

s  firmme o uRme | 50 W ®
TE T & T A B -

U ATl

(B) =

12
—A
7

1A

()

©)
o Tz i i | 3 9y Tw w9 e
% THIIR & A wEiid S € -

(A) firg = wwaum atd

(B) Tig wi faumrewen

() iz =t srmmm i

(D) fig % =fa afd

Q.1.

Q.2

Q. 3.

An object of mass one kilogram is
lifted vertically of height one meter
then the amount of work done will
be -

(A) 9.8J

B) 1J

(C) 9.8erg

(D) both'a’and ‘¢’

A circuit as shown in fig the value
of current in 30 resistance will be

™) o
S = 50 —/F
ro [\
‘ 9,
(A) 2A
(B) zero

12

-—A
(C) p
D) 1A

The velocity time graph of the
particle in motion is parallel to time

axis shows

(A)  Uniform motion of particle

(B) Particleisin rest

(C) Non uniform motion of particle
(D) Accelerated motion of particle
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W4 THEFS A oAl % T S T g9 Q. 4. An artificial satellite is moving in

. 5.

e & R e % el % U 9T
FE 4T § W T A 98 I g

T @ fradt Fe WE -

(D) T WHE T
@a@mmmwﬁmﬁﬁw
regeren ¥ e Hfere e i 1 feeret
12 e T AT A W E A W
e & eaty @ = 1000m/s B T TR
T -

(A) 5S5km
(B) 6km
(C) 600m

(D) 4000m

T 6. TRRIUEET 1 I § -

(A) e

(B) 3fm /W
()

(D) T AEE T

W x WieT

Q. 5.

Q. 6.

circular orbit around the earth with
a speedequal tothe escape velocity
from the earth of radius R. then what
is the height of the satellite above

the surface of the earth :

None of these

1B)

An investigator team transmit an
ultrasound signal to the sea bed.
The signal is received back in 12
second. If the speed of sound in
water is 1000 m/s then the depth of
seais

(A)
(B)
©)
(3)

The unit of resistivity is :

5 km
6 km
800 m

4000 m

Chm
Ohm / meter
Ohm x meter

None of these
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17 T FEAm e EEE g 2som g A Q7. The focal length of concave lense
is 25 cm. Then its power will be :

ST Il B -

(A) 4D (A) 4D

B) -4 B) -4

(C) -4D | (C) -4D

(D) aw (D) All of these

Q. 8. Toremové short sightedness in eye

7 s 57 Free 3fe I% T T B B W
which lens is used :

(A) SRR ¥ (A) Cylindricallens
(B) Tewies! o (B) Bifocal lens

(C) 3@ o (C) Convexlens
(D) orEad TiF (D) Concave lens

Q. 9. At what temperature the density of

% 9. g AT T O E S S A g - ‘ _
water is maximum

A) g HERW '
)4 (A) Below 4°C

B) 4o¢ W AE W
SR (B) Above 4°C

o © e

D g0
D) 4C D) ac

NTSE- i 3.




7. 10. T IR T SQ ¥R Q. 10.Three resistance each of s( are

% p g Q % Ed e W €T -
50 R
=} 50
5Q Q
10
—0
(A) 3
B) —0
(B) 10
C) 150

(D) None of these
u.n.uéﬁ'rrréaa’r&ma?mﬁaﬂﬁamm%—
(A) Wﬁéﬁ'ﬁrﬁwmmﬁ
&I &
(B) R el fem
(C) T T FT TE T 8 6
RITETEY BTcTeh Bl
(D) T HRE
g.12.wﬁatﬁa“ramwm€m%-
(A) frafa

(D) wEH
7. 13 fer et TRafia A E -
(A) ﬁgamfﬁa‘:ﬁmwfﬁ

(B) ife ot & I Tl |
(C) i el @t TR e |

() for et it T e

joined according to fig the resultant
resistance between P and Q will be

50 R
P 50
5Q Q
10
ey
A 3
5 ~0
® T
C) 15Q

(D) None of these

Q. 11. Fleming left hand rule is used to
find
(A) Direction of magnetic field dueto

current carrying conductor

(B) Direction of induced current
(C) Direction of force on a current
carrying conductorin & magnatic field
(D) None of these

Q. 12. The speed of sound wave is
maximum in
(A) Vaccum

Q. 13. An electric generator converts
(A) Electric energy in to mechanical
energy
(B) Mechanical energy into thermal
energy
(C) Mechanical energy into electric
energy
(D) Electric energy into chemical
energy

NTSE- I



WEH (Chemistry)

e T % 4 fame R T E, T wét e
EEE]
7 14, 298 K AT O STe Y Wi e g

(D) wsHT
W 15. 46q TfETH § wETOET e anl -

(A 3.022x10%
(B) 6.022x10%
(C)  9.044x10%

(D) 12.044x10%
7. 16, TE @ X N T G 19 &, T0 x*
AR H geEg A e gl -
(A) 18
(B) 19
(C) 20
(D) 2f

7. 17. % oA A 9211 B & pH W AT 2
| O 5 §, THET WpTe BNl -

(A} AT B AT A
(B) A &, B v
(C) B &, A 3™
(D) A 3w B At e

(Each question has 4 options, select the
appropriate option)
Q. 14.The physica! state of water at 298

K temprature is :
(A) Gaseous

(B) Solid

(C) Liquid

(D) Plasma

Q. 15.The number of atoms in 46g of

Q.16.

sodium will be :
(A)  3.022x10%
(B) 6.022x10%
(C) 9.044x10%

(D) 12.044x10%
The atomic number of an element
X is 19.The number of electrons in
its ion x* will be :

Q. 17.Two solutions A and B have pH

Value 2 and 5 respectively their
natue will be :

(A) Aand B both acidic
(B) A alkaline, B acidic
©)
()

B alkaline, A acidic

A and B both alkaline

NTSE- Il 5.



W18, (NH,); PO, ® WITHT TAH F

N &
=
ga \ﬂaa 3 -

7. 19. 7 A, B, C Td D TSt ey ¥
AT 4,12,1731‘%119%135&@&‘\1?
T T R FE -

(A) BERC

(B) AWB

(C) ASRD

(D) C#RD

7 20, ettt & @ & € THEAS

(A)  Ca+H,S0; - CuSO, +lH )

(B) Cu+H,50,— CuSO;+H,

(C) Zn+H,50, — ZnS0,+H,
(D) Mg+H, 80, —MgSO,+H,

7. 21, Crafefa § & TEEe i § -

Q. 18.Valency of Phosphate radical in

(NH ,); PO, is
(A) Four
(B) Two
(C) One
(D) Three

Q.19.The element A, B, C and D have

atomic numbers 4, 12, 17 and 19
respectively. Which pair of
elements belong to the same
period :

(A) BandC
(B) AandB
(C) AandD
(D) CandD

Q. 20. Which one of the following reaction

is not possible :

(A) Ca+HyS0,~> CaSO; + H,
(B) Cu+H, 80, CuSO,+ H,
(C) Zn+ H,80, — ZnSO,+H,

(D) Mg+H,80,~> MgS0O,+ H,

Q.21.Which one of the following is a

covalent compound :

(A)  NaCl
(A)  NaCl
(B) AICT
(B) AlCl
(C) Mgl ©) Mgl
(D) Cdl, L)y cd,
NTSE- Il -6-



Td 100 A WHIY § SHH BEgred

(A) 196
® 1%
©) 200
©) 202

7. 23, T i HeiEen T H R O

Juftom ¥ -

(A} -COOHY-OH
(8) ~OH,-COOH
) - CHO, -COOH

(D) ~OH,-CHO

Y. 24, 3TEE & WL 1 A SRV -

o

0 25. T 3116 T HEK A T ¢ -

(A)  CaCl, T HT

(B) €O, 3TN T

.22, UF TSRS faads T ] d f@ Q. 22.A hydrocarbon having one double

bond has 100 carbon atoms in its
molecule.The number of hydrogen
atoms in its molecule will be :

(A) 196
(B) 198
(C) 200
(D) 202

Q. 23.The functional group present in

ethanol and methanoic acid is :
(A) -COOH,-0H

(B) -OH,-COOH

(C) -CHO,-COOH

(D) -OH,-CHO

Q. 24.Main objective of smelting of ore

is:

(A) To oxidise ore

(B) Toreduce ore

{C) To remove volatile impurities
(D) Alloy formation

Q. 25. Plaster of paris hardens by :

(A) Losing CaCl,
B) Absorbing CO,

(
(C) Absorbing water
(

D) Releasing water

Q. 26.Basic radical is :

(A) ; (A} Positively Charged ion

(B) FoTER 31 (B) Negatively charged ion

(ORI (C) Neutral atom

(D) B B & (D) None of the above
NTSE- i 7.



g fag™ (Biology)

e T 3 4 T fed i €, 3 W fered
ol |
7 27, Tt 8w H g S s
HEIEE -

(A) el 3

(B) 2ot 3 aeE Y HiEeE

(C) T A A

(O) (A) @ (B) =

e 3 Tt § vt A H W
S AT T A T - |

(A) =&

(B) FHEEESE

(C) &=

(D) R
W?@Taﬁmmémaﬁmzﬁf
e & wEE S E -

(A T

(B) WES

() @&

0) &

T T ST B e T W
e S E -

(A) IEH

(B) eI STWIERT

(C) ImEEH

(D) Tedrers o

afy T | TEgEii 3Rl I
ﬂ%”f?ﬂﬂa‘rﬁmmuﬁm(m)m
& & -

. 28.

9. 29.

9. 30.

T. 31

{Each question has 4 options, select the

appropriate option)

Q. 27.Which of the following group is a
group of connective tissue -
(A) Bones and Blood
(B) Muscies of hand and heart
(C) Brainand Spinal chord
(D) Both (A) and (B)

Q. 28.The nutritive elementfoundiniarge
amount in soyabean and pulses is
(A) Fat

(B) Carbohydrate

(C) Miniral
(D) Protein

Q.29.In our body which organ is
responsible for conversion of
ammonia in to urea
(A) Kidney

(B) Lungs

(C) Liver
(D) Heart

Q. 30.In a food chain usually find the
following at the first trophic level
(A) Producers A
(B) Primary consumer
(C) Decomposar
(D) Secondary consumer

Q. 31.1f in stomach hydrochloric acid is
not produce which enzyme will not
function
(A) Ptylin
(B) Tripsin
(C) Pepsin

(D) Chymotripsin




. 32

. 33

. 34.

u. 35.

u. 37.

oft faurmepmet @@ W w R
ST A T T T A @
o e Tt B S O T I B
(A) 100 %

(B) 75%

(©) 25%

(D) 50%

A @ S FW 6 R A ¢ o A g
3 e e T T €, 3 fhen
1 iy 2 ¢ -

T @fnﬁaﬁrtﬂv mﬁ,@am

(D) W

(A) vaTEe |

(B) =¥
(C) ar=

(D) vmwg‘m

Q. 32.1f a heterozygous tall plant is

crossed with homozygous dwarf
plant the ration of dwarf plant in
progency will be

(A) 100 %

(B) 75%

(C) 25%

{O) 50%

Q. 33. When we sleep at night and are bite

by a mosquito we often try to Kill
the mosquito. This action is
controlled by :

(A) Pituitary gland

(B) Spinal Chord and brain

(C) Brain

(D) Pineal gland

Q. 34.In plants ovary develops into :

(A) Seed
(B) Fruit
(C) Flower
(D) Bud

Q. 35.A patient is generally advised to

consume more meat, lentils, milk
and eggs in diet when he suffers
from:

(A) Scury

(B) Anaemia

(C) Rickets

(D) Kwashiorkor

Q. 36.Cellulosic cell wall is not present

in one of the following :
(A) Bacteria
(B} Hydrilla
(C) Cactus
(D) Mango

Q. 37.The thick stem of trees respire

through :
(A) Trachea
(B) Stomata
(C) Lenticel
(D) Gills

NTSE- Il
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(A) wife=r - T
®) wEw - AR
(T=TTE)
(C) @l - FATA
(TrET)
(0) WFw - g
T 39, T T VA T TR ol § -

(A)  iferdier @1 afiees
(B) FHE-EE-SAoHIES 1 UREET
(C) iR el W TR

Q.38.Which of the following s

unmatched :
kingdom Example
(A) Protista - Amoeba
(B) Fungai - Yeast
(C) Plantae - Cuscuta
(D) Monera - Euglena
Q. 39.The function of white blood cells
of blood is :
(A) Oxygen transportation
(B) Carbon dioxide transportation

(C) Transportation of nutrients

(D) I3 & T (D) Protection from germs
. 40. TR T e afead o el Q. 40. Reticulate venation is not found in

T A B leaves of :

(A) Eﬂfﬂ (A) Onion

(B) T (B) Rose

©) T (C) Radish

D) T (D) Tulsi

TfoTd (Mathematics)

v 41 T fertt 3 & T U5 T G 264
T2 Ao TR S 924 W ¥ W IR

T A $elTE T 3O BT -
(A) 3:7 ®) 7:3
C) 6:7 (D) 7:6
7 42,9 100 qAT 200 % o @t fowm
T3 &1 ST AT :
(A) 7500 (B) 751
(C) 2500 (D) 50
. 43‘&&3“?6@0’5{ .f(x)=x2»8x+lc G|
ﬁ(mﬁ)&wﬁwﬁw 40 & T
J; A BT :
(A} 6 (B) 24
)y 12 (D) 10

v, 44 T TR e w5 gqeed ®1 T
4:9 %\ o st & QR el 3T
‘zﬁ"’ﬂ:

(A)
)

2:3
81:16

(B) 4:9
(D) 16:81

Q. 41. The curved surface area of a cylinder
is 264m? and its volume is 924m’. The
ratio of its diameter to its height will be :

(A) 3:7 (B) 7:3
Cy 6:7 (D) 7:6
Q. 42. Sum of odd numbers between 100 and
2001is:
(A) 7500 (B) 751
(C) 2500 (D) 50

Q. 43. If the sum of squares of zeros of
the quadratic polynomial
f(x):xz—8x+k is 40. Then the
value of K wili be .

(A) 6 (B) 24
() 12 (D) 10

Q. 44. Sides of two similiar triangles are
in a ratio 4 : 9 Areas of these
triangles will be in the ratio of :

(A) 2:3 (B) 4:9
(C} 81:16 (D) 16:81

NTSE- Il
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7 457 6, 7, x, 8. y, 14 FE o T AEA:

(A) x+y=21 (B) x-p=19
C) x+p=19 (D) x-p=121

T 46, T TR Tt TG T THIU ) = — X +5
ST TEERI A 3Ty 3T R el TS
?I"TT:
(A) 5,1 (B) -1.5
(C) -1.-5 (D) 1,5

. 47,37 T U WY ST 9 & | S O W
O 3k 3T W WRaT &R ©
(A) 3 B 3
0 - D) —
(O © 5

7. 48, T el Fort & ST A @A | | S
e A o 2 € o & S A s

AN 5 HeEr A A L A AT
g R B
7 9
A3 (B) 5
8 7
) = D) 3

T 49.TE a4+ h=12 AW ab=11 T, o* ~ b°
T A BT

Q. 45. If the mean of 6,7, x,8, y,14 i5 9

then :
(A) x+y=21 (B) x-y=19
() x+y=19 (D) x-y=21

Q. 46. If the equation of a straight line

isy=-x+5 then its slope and
interception on y axis will be :
(A) 5,-1 (B) -1,5
¢ -1,-5 (D) 1,5

Q. 47.Two dices are thifown together.The
probability of getting the same
number on both dices will be :

1 |

® ® 5
1

© 5 o 5

Q. 48. A fraction becomes —:~ if 1is added

to both numerator and denominator,
but if 5 is subtracted from both
numerator and denominator the

fraction becomes %The fraction will

be :

W e
8 7

© % oy

Q. 49. If «+bh=12 and e¢b=11, then the

(A} 100 (B) 144 value of «* - »? will be :
(C) 120 (D) 121 (A) 100 (B) 144
(C) 120 (D) 121
7.50.a 1pPQ ‘
Q.50.f 1PQ
+RRP
+RRP
786 -
786
W Q FEAE then value of Q will be :
(A) 4 (B) 6 (A) 4 (B) 6
C) 2 Dy 5 (C) 2 D) 5
NTSE- Il -19-



- aven e——

7 515 Fre fom B g@ poR frgw qpe Q51 inthe following figure circle POR
ISP S P is incircle of the triangle 43¢ .The length
T A g Al pO T eveg g of BC will be -

(A) 7 cm (B) 8 cm (A)

7 cm (B) 8 cm
(C) 9cm D) 10cm (C) 9cm D) 10 cin
7529 x U a(ae SIS §EATE, 7 Q.52.1f X is a positive real number then
the value of

0\ +h 5 b+c e \EH
X X X
. 7 X —-: X 7 ol T \,(i ath \,/7 bto \,C c+d
X X X . B B .
5 X1 X\ will be :

a4

EULE X x x
(A 0 B 1 (A 0 B 1
(C) (.‘C)l (D) (_x)"'””c (C) (,\‘)‘ (D) (x)u+h+(f

7.53.9 T ety § O g w1 %5 & Q.53.In the given figure O'is the centre

/ BAO = 35" AR/ BCO = 45" gdrx  of circle.lif £ B40= 35" and / BCo = 45"
AR T AL then the value of x wili be:

(A) 160 (B) 170 (A) 160 (B) 170
(C) 80 (D) 140 (C) 80 (D) 140

7 54, iRt 7 T 0t 87 o BT zaad  Q.54.The diagonal of asquare is 842 cm -
ARV RG AR ks Then the side of this square wili be :
(A) 83 em (B) 16 cm (A) 83 cm (B) 16 cm

(C) 8cem (D) 32 cm (C) 8 cm (D) 32 em

NTSE- Il 4.



W 5537 WA fAAmT ReATAAEl 24 U
T 1536 7 3 FEAL E :
(A) 6TE98 (B) 6TH96

(C) 36Td98 (D) 36THB
7 56 THIETT 3a% - Tx-5=0 % TRl W
TQIU;I‘TB(HQTH:
N —
(A3 B 3
3 5 -3
©) 7 ©) =

uls7.%€ram3zafmﬁma"rmwﬁm :
% T B, T 9 40 i T F

~

FARILE
(A) O (B) 30°
(C) 45° D) 90°

7 53, g FARE AT A 3 BC HITEE

T ITE 3:2 B, AW L40B=96" &,
;A LCOB FAA M

B

(A) 96° (B) 32°
(C) 64 (D) 16°
7. 590X 24 =3B AT 4B=5C &, & A:C
FAT
(A) 15:8 (B) 8:15
(C) 2:5 D) 5:2
7. 60. farwrang farerer o wmfirfe ot B
(A) 3 B) 2
€) 1 D) 0O

Q. 55. The mean proportional is 24’ and
the third proprotional is 1536. Then
the numbers are :

(A) 6and98 (B) 6and 96
(C) 36and98 (D) 36and96
Q.56.The product of the roots of equation

3xt—7x-5=0 will be :

5 -5
A3 ® =
3 ~3
©) 3 (D) =

Q. 57. If the shadow of vertical tower is
equal to its height at any moment.
At that moment the angle of elevation
of the sun will be :
(A O (B) 30°
(C) 45° (D) 90°

Q. 58. In the given figure, what would be
ZCOB, if the ratio of arc AB and

BCis 3:2 and £40B=96":

B

(A) 96° (B) 32°
(C) 64° (D) 16°
Q.59.1f 24 =3B and 4B=5C Then 4:C
will be :
(A) 15:8 (B) 8:15
(C) 2:5 (D) 5:2

Q. 60.The number of axis of symmetry in
scalene triangle is :
(A) 3 (B) 2
) 1 D) 0O

NTSE- I -13-
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wrrtsrek fewT (Social Science)

TR T % 4 T R T ) s el fashed

el

T 61.

. 62.

W. 63.

H. 64.

. 65.

TS B TG -

(A) 28T 1919H
(B) 28 TEE T 1924
(C) 209eE T 1915 H
(D) 28 e ®L 1917 °
(A) 1915

(B) 1917
(C) 1919
(D) 1920
(A) A, FECH, ST

(B) THHI, T, TE

(C) UM, TlUE, IFHRE

(D) ®, anfigzn, geel

i fes 3 1881 B wd § ®H
r wfHeR! T & -

T 1919 T WA SFf-an Senta o -
(A) wrEE HE KA W

(B) ew fue w

(C) TR IHHERE W

(D) Touer AT geR W

(Each question has 4 options, select the
appropriate option)
Q. 61. Treaty of versailles taken place on
(A) 28 June 1919
(B) 28 July 1924
(C) 20July 1915
(D) 28 July 1917
Q. 62. When was the establishment of the
league of Nation :
(A) 1913
(B) 1917
(C) 1919
(D) 1920
Q.63. Axis countries are :
(A} Germony, ltaly, Japan
(B) Germony, Russia, France
(C) Japan, Poland, America
(D) Spain, Austria, ltaly
Q. 64.Which Journal was started by
Lokmanya Tilak in 1881 in Marathi
(A) Miraat
(B) Hindu
(C) Times of India
(D) Kesari
Q. 65.In 1919 Indian Act was based on :
) On Simon Commission report
(B) On Nehru report
(C) On Montegue Chems ford
(0)

On Minto Mariey ammendment

NTSE- Ii
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7. 66, T 1962 H o 397 o ST T g3 -

)

7. 67. 3TREE YA T o et Ferd HfeeT

Hd SfIT a‘wu&sl
YR 3 A
TR 3T et

R HH ot ?

(A)
(8)
()
©)

T 68. T wery fed 91 T I o ?

©)

& T fardue
ST TG
ST 3T A

LGRS

Q.66.In the year 1962 did the wor

between two countries is :
(A) India and Bangaladesh
(B) India and China

(C) India and Shrilanka

(D) India and Pakistan

Q. 67.Who was the first lady President of

the Indian National Congress ?
(A) Dr. Annie Bisant

(B) Sarcjani Naidu

(C) Aruna Asaf Al

(D) Dr.Vijaylaxmi Pandit

Q. 68.Shatkarni was first rular of which

dynasty :

(A) Chola

(B) Gupt

(C) Kushan
(D) Shatvahni

Q. 69.During 7th century B.C. the new

7. 69. TAE! yATed W g o 1 A WY I
ol O femsTe o -

(A)
(B)
(C)
O)

EESDIE]
=
TTEAH

form Buddism was famous as :
(A) Mahayan
(B) Heenyan
(C) Vajrayan
(D) Sahajyan

Q. 70.Importent Principals of fascism

TETH

7. 70. TTEaTE w1 e fgia o -

was :
(A) Terror rule in the state

(A) T H 3R H I (B) To control the production and
(B) TR T S farfrere et exchange system of the state
ot T (C) Toequip the state for war
(C) o T T, % T R (D) Extension of the state through
(D) T C AR CIC2G @%WW supremacy and victory
NTSE- i 15.-
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. 72.

U 73.

T BT ST wit e S W
STTRrfe o -
(A) T O

(0) TWRMAUE fwel
e favaag O wd B 30T gadl -

=

T 1914

CICIC

g 1917
11918
D
91 1 TEd wel @ WilkAH SE € -
(A) wiE s
(B) AT &M

—_—

T 1919

¥

(C) UEHH &M
(D) T & FEm

T, 74. IETRR Ul ATl 9e R W o ae

Q. 71.The Industrial revolution of
Germany was based on which
Industries :

(A) Cotton cloth

(B) Mineral

(C) Computer

(D) Chemical and electricity

Q. 72.When was Russia separted from
first world war
(A) In1914
(B) In1917
(C) In1918
(D) In 1919

Q. 73.Largest and oldest industry of the
country is :

(A) Cementindustry
(B) Paper Industry
(C) Jute Industry
(D) Cotton Industry
Q. 74.The trees with conical shaped

HTQTVH'ET%! leaves founded in which type of
. forest :

(A) T g e (A) Tropical Evergreen forest
(B) TS ot A (B) Decidous Forest
(C) wivTed g (C) Coniferous Forest
(D) ariE e (D) Tidal Forest

T 75, TE T R v e v, T Q. 75.Which econtine-nt is f'rom wh‘en
N meg ) cancer line copricoun line and line

of equator passed :
(A)  emgfern (A) Australia
(B) ufgren (B) Asia
(C) Rt (C) Africa
() = (D) Europe
NTSE- I -16-



9. 76.

0 77.

9. 78.

T 2011 F WA 1 AT 940 1
ToE! e & T -

(A) T E
OIRGuEE Be)

() g

(D) TS HET ALl T Fhel

P T TR AT %) EHEd e 8
(A), TS &

(B) WHaHT W@l

(C) HHaTT

(D) EHsTE @

et st fepee feord PR A S
TG AW AT E -

(A) Tm - N

) @gm - feed

(C) MEEd - U

(O) g - e

Q. 76.The sex ratio in India was 940 in
2011.This means that :
(A)
(B) The sex ratiois high
(C)

(D) Nothing can be said

The sex ratio is low

The sex ratio is balanced

Q. 77.The line joining places of equal
atmosphare pressure is turned
(A) Contour
(B) Iisolyet
(C) Isotherm

(D) Isobar

Q. 78.Which of the following pairs of
indian rivers and cities is not
cotrectly matched :

(A) Ganga - Varanasi
(B) Yamuna - Delhi
(C) Godavari - Patna

(D) Narmada - Jabalpur

Q. 79.For the Production the wheat there
should be :

(A} A cool & wet climate during its
growing period but not climate
during the ripening period

(B) Sufficient heat but very little
rainful

(C) Sufficient heat but heavy rainful

(D) Hot climate during the growing
period but cool climate during
the ripening period

Q. 80.Which the following Ocean are

connected by Panama canal :
(A) Pecific and Atlantic

(B) Atlantic and Indian Ocean
(C) Indian Ocean and Pecific
(

D) Pecific and North Ocean

NTSE- I
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. 82.

U. 83.

. 84.

U. 85.

o

(D) WiEsee

firar ey forwe A9 &

(A) THTERT T UY]

() i H OTE W AT ferer
(C) TiiftesT H TRl S aelt et
(D) areften # fior vErel
TEEEM AT ?

(A) T URS W T

(B) wEITE

(C) TTH T

(D) aTTE

~5

SR SRTEE TEATen gd | e

(A) & 3w
(B) STt T TR &5 BT

(C) fer e e e B

(D) Temuey wEH

T ST o e TEHS B 9 -
(A) I SRR Yt

(B) wRER @ fE

(C

)RR T WE W
(D) Bl TH MRS

Q. 81.Which country is Europ is famous
from dairy industry
(A)  Denmark
(B) Norway
(C) Swedon
(D) Switzerland

Q. 82.Sierra Nevada is the name of
(A) An animal of America
(B) Adescase found in America
(C) A fruitfound in America
()

Q. 83.What is Gulf Stream ?

A mountain found in Amarica

(A) Fishing Center
(B) Large Cannal
(C) Warm Ocean Current

(D) Air Current

Q. 84.1f Aravalli ranges were from East to

West :

(A) There would be no diferent atall

(B) Bangal would have been the dry
area

(C) The western Rajsthan would
never have been a desert

(D) Uttarpradesh would have been

a desert
Q. 85.Who was the first home minister of
Indiependent of India:
(A) Lal Bahadur Sharstri
(B) Sardar Swarn Singh
(C) Sardar Vallabh Bhai Patel
(D) Dr.S. Radhakrishnan

NTSE- Il

-18-



7 86, Hiaer FeT | fRaaT THE @ AT -

0. 87.

u. 88.

7. 89. T Freey ST W TR 29T T

T 90, TSHT AT T TEAT | ARA B Thifud

() 3@ 11 @ 18T
(B) 2@ 11 7R 18

(C) 4@ 119E 18\

(0) 139 11 TR 18 |

2001 T STRTUT 8 IIHT ST S
Y T W N E ?

(A) 13.2%

(B) 21.2%

(C) 15.2%

(D) 16.2%

Hfeemait @ 33% | #aT 50% T
ST Ao el ¥ W ¥ -
(A) T e

(B) weferaTg

(C) ®

(D) M U=TEd

m_.

(A) TUEHE
B) fre

(C)

(D) ¥

Q. 86.How much time was spent in

constitution building ?
(A) 3year 11 month 18 days
(B) 2year 11 month 18 days
(C) 4vear 11 month 18 days
(D) 1year 11 month 18 days

Q. 87.What is the population percentage
of scheduled castes according to
2001 cencus ?

(A) 13.2%
(B) 21.2%
(C) 15.2%
(D) 16.2%

Q. 88.Woman have given 33% to 50%
reservation in which pealitical
organization
(A) Local body
(B) Language dispute
(C) Partiament
(D) Gram Panchayat

Q. 89.Was not the founder country of non-
alignment movement
(A) Indonasia
(B) Mishra
(C) Yugoslavia
(D) China

Q. 90.Management made by planning

I TS ST - commission in India
(A) HHTTETR Srefeaee (A) Social Economy
(B) Tufym arefeeren (B) Mixed economy
(C) TUsaTar srefezeten (C) Capitalism economy
(D) TR SefeaTe (D) Marxism economy

7 91, T faste fred Breme adr g - Q. 91.Federal legislation is consituted by
(A) Truld (A) President
(B) TeENT TE ToEdAT (B) Loksabha and Rajyasabha
(C) (A) 3T (B) (C) (A)and(B)
(D) W@W\‘g‘ﬁﬁ (D) None of the above

NTSE- I -19-
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.92

¥. 93.

U. 94.

¥. 95.

. 96.

9. 97.

TEAT el SR G g3 -

(A) oA TR Hi &
(B) WRTEN & TANR A oh g
(C) T Tl FHHN o ol
(D) wei walt o fer

fRresTE ST AT 31 TR AT E -
(A) FI=FH

(B) TERATWH

(C) e weawm |

(D) T Al

FC.. g Rl & ST ot @y
(A) ToIR Hed W

(B) o B W

(C) I Hed W

(D) =g T e

2016 % 3HAR WA & "Ha foehrd
e T T W E -

(A) 129

(B) 136

€) 131

(D) 130

TN 2005 fRa T m & TR e
¥ (v A B ¥) -

(A) 100

(B) 150T@

() 120f@

(D) 90w

T (G.S.T.) T § -

(A) TEH Ud wfEw e

(B) Telteret Tl dad

(C) ToiEe TUSE TEd

(D) e e e

Q. 92. Right to information started for

(A) Demand for minimum wage
(B) Awarness about corruption
(C) Information about muster role
(D) All of above

Q. 93.The actual meaning of development

comes from

(A) income

(B) literacy rate

(C) Life average age
(B} above all

Q. 94. F.C.I. Purchase the grains from

farmars on :

(A) Localrate

(B) Wholesale price

(C) Internation rate

(D) Minimum Support Price

Q. 95.Whatis India rank according to 2016

Human development Index :
(A) 129
(B) 136
(C) 131
(D) 130

Q. 96.NREGA 2005 Guarantees work for

how many day’s (In Chhattisgarh
in present) :

(A) 100 days

(B) 150 days

(C) 120days

(D) 90days

Q. 97. Fuli form of G.S.T.is :

(A) Goods & Service Tax

(B) Global Service Tax

(C) Global Stenderd Time

(D) Global System Technologies

NTSE- I
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7 98, 2011 HI ST % IIER BREE &l Q. 98.According to the cencus 2011, The

e STTHEAT o - total Population in the Chhattisgarh is :
(A) 2,55,45,198 (A) 2,55,45,198
(B) 2,4512,110 (B) 2,45,12,110
(C) 1,27.12,330 (C) 1,27,12,330
(D) 1,96,07,961 (D) 1,96,07,961
7. 99. Ay F e ° Hgeyul aftre Q.99.Important role played in
T € - globalization :
(A) Sriap A E ) (A)  Intenational Company
) WW (B) Multinational Company

(C) National Company
(D) Government Company

(B
(C) T e
(D

) wEEE Q. 100. Which of the following central
%. 100. me Ww% ) banking institution in India
(A) R T & (A) State Bank of India :
(B) WA HUge 6 (B) Central Bank of India o
(C) T BT (C) State Co-oprative Bank |
D) s fetd 5% (D) Reserve Bank of India }
====(=z==

% &7d / Rough Work
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